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o^o I a

l..-.we'allq " ro Lachq esron dlresInd_
1 ) I' A is a 2 x 3 malrix, and B is a 3 r 5 mairix, wh:i s the order oi AB ?

2) llow many prime numbers are lhere between 20 and 50 ?

I Whor 5rl.F\- rpo' Fo'_dmnallorheoudorof. Aqrd o' \' ' i
4) Find lhe r5'h lerm oi ihe aiihmetic progression 3,6,9, 12, .

ao 20
Fi.d D ln lhe propodion 

|-)= o,
Wlrar s the dislance beilveen lhe polnl (6,8) and lhe x axls ?

5)

6) (6r1=6)

- PART B ...

L Answer any 6 queslons.fach question carries ? m:arks.'.

' 
so\- 13./ L /j tllb / . / rrl

8) Find the l nal amouit on a aurn oi <3,000 compornded annua y at 7% jor

9) Sovex'?-9x+14-o.
10) There ar€ 40 people in a room 32 ol lh€m speak English and 28 speak

.French. All oi lhern know ai leasl one langlage. How many oi lhem speak
bolh English and French ?

11) Find lhe area or rhe triang e iorrned by rhe points A(3,6) B(5,9), C(r 1,7).

l2) Two numbers are in the ral o 5 : 6 li lheir prodlc1 is 270, i nd lhe nunrb€rs.

1 3) Wr le down ihe equai on 1or the nrh tenn ol a geomelric progression.

14) iA={2,5,6,7)andB={5,6 7,8,9),fjndA.B. {6x2-12)
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PAFIT C

4 queslions. Each queslon caries 3 marks.

sum ot the I 61 1 o lerms oi the geomelric series 5, 1 o, 20, 40, . .

i)
rhe sum 011wo numlers it4o-a=nd llElrdi{rerenc,q s 16. Find the
n,mber , / .' __\ \,7-../,\l/-\/

Find lhe presenl value oEz:00qdue inl4.yeard_?it 5% per annum 6mpounded
a.nLarv *:{*-)P

1:w4
A Tdl p" lorrs . ol his iour-itbtb[s, aby.@r and rhF ,erainig' 4 '*i,\' -erv- ,\a. ar',
J -d rrF dsr6r.p oph'ee. ih€ 6i6 fojnrs A(10.6)dld B(2.0/. (ax3=12)iw$

ls al
and B= 3 2 ,trndAB.

7g
17)

18)

1s)

20)

-;;.iGrugffiAs

torlhe same rate ol inleresl ?

z quesrons: !acn-quesnon car

,,,u""n,n"oi#,"#1r,!ft fl6g$?1e+)onx,rrx+so=o
23) n an A. P of 40 lerms lhe sum ot the lirsi 1 0 lerms s 1 65 and lhe slm ol

rl e ld\r 20 rerrs is 830. tino Il e dall nelc p'ogr".sro1.

24) A man deposils a sum ol I 6,000 lor 5 years ior an inieresl ol 10% per

. annum cornpounded annually. How rnuch exlramoneywould he make had
he compolnded ihe same sum halfyeady torlhe same peiod ol ljme and

(2rs=10)


